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�D>7D4<<4 E>EF46?5=4 =4 >E=>65 $��% %�� ?> =4?D46?5=<O<: 15.02.08 

&5E=>?>7<O <4L<=>EFD>5=<O, 15.02.10 �5E4FD>=<>4 < <>5<?L=4O 
D>5>F>F5E=<>4 (?> >FD4E?O<), 15.02.13 &5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F 
E<EF5< 65=F<?OF<< < >>=4<F<>=<D>64=<O, 15.02.14 �E=4M5=<5 ED54EF64<< 
46F><4F<74F<< F5E=>?>7<G5E><E ?D>F5EE>6 < ?D><76>4EF6 (?> >FD4E?O<), 
22.02.05 �5D45>F>4 <5F4??>6 446?5=<5<, 22.02.06 %64D>G=>5 ?D><76>4EF6>, 

23.02.04 &5E=<G5E>4O M>E??G4F4F<O ?>4N5<=>-FD4=E?>DF=OE, EFD><F5?L=OE, 
4>D>6=OE <4L<= < >5>DG4>64=<O (?> >FD4E?O<), 27.02.07 '?D46?5=<5 >4G5EF6>< 
?D>4G>F<<, ?D>F5EE>6 < GE?G7 (?> >FD4E?O<). 

 

I. �5D5G5=L M?5<5=F>6 E>45D64=<O, 
?D>65DO5<OE =4 6EFG?<F5?L=>< <E?OF4=<< 

 

$4745? 1. «�5><5FD<G5E>>5 G5DG5=<5» 

1. �E=>6=O5 FD55>64=<O ?> >D>D<?5=<N G5DF565=: D>D<4FO, >E=>6=O5 
=44?<E<, <4ELF45O 

2. �<=<< G5DF564. 

3. �E=>6=O5 ?D46<?4 =4=5E5=<O D47<5D>6. 
4. �5><5FD<G5E><5 ?>EFD>5=<O.  

5. %>?DO65=<O, ?D<5<O 6OG5DG<64=<O >>=FGD>6 F5E=<G5E><E 45F4?5=. 
 

$4745? 2. «�D>5>F<>==>5 G5DG5=<5 (�E=>6O =4G5DF4F5?L=>= 75><5FD<<)»  
1. �<4O ?D>5F<D>64=<O. �D>5F<D>64=<5 F>G><. 
2. �D>5F<D>64=<5 >FD57>4 ?DO<>= ?<=<<. 

3. �D>5F<D>64=<5 ??>E>>EF<. 
4. �D>5F<D>64=<5 75><5FD<G5E><E F5?. 
5. �5D5E5G5=<5 ?>65DE=>EF5= 75><5FD<G5E><E F5?. 
6. �D>5F<D>64=<5 <>45?5=. 

 

$4745? N. «�4L<=>EFD><F5?L=>5 G5DG5=<5»  
1. �><??5>E EF4=44DF>6 �%��. 

2. �7>5D465=<O 3 6<4O, D47D57O, E5G5=<O. 

3. -E><7O 45F4?5=, D45>G<5 G5DF56<. 
4. �5M<5 E6545=<O >5 <745?<OE, E5>D>G=OE G5DF564E < E?5F<D<>4F<=. 
5. �5M<5 E6545=<O > <4L<==>= 7D4D<>5. 

 

II. &D55>64=<O > GD>6=N ?>47>F>6>< ?>EFG?4NM57> 

 

�>EFG?4NM<= 4>?65=: 
7=4FL: 
ý 74>>=O, <5F>4O < ?D<5<O ?D>5>F<>==>7> G5DG5=<O;  
ý ?D46<?4 6O?>?=5=<O < GF5=<O >>=EFDG>F>DE>>= < F5E=>?>7<G5E>>= 
4>>G<5=F4F<<; 

https://spo-edu.ru/uploadedfiles/fgos-spo_5af1e6d52d79d.pdf
https://spo-edu.ru/uploadedfiles/fgos-spo_5af1e713513c4.pdf
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ý ?D46<?4 >D>D<?5=<O G5DF565=, 75><5FD<G5E><5 ?>EFD>5=<O < ?D46<?4 
6OG5DG<64=<O F5E=<G5E><E 45F4?5=;  
ý FD55>64=<O EF4=44DF>6 �4<=>= E<EF5<O >>=EFDG>F>DE>>= 4>>G<5=F4F<< 
(�%��) < �4<=>= E<EF5<O F5E=>?>7<G5E>>= 4>>G<5=F4F<< (�%&�) > 
>D>D<?5=<N < E>EF46?5=<N G5DF565= < EE5<.  
G<5FL: 
3 6O?>?=OFL >><??5>E=O5 G5DF56< 75><5FD<G5E><E F5? < ?D>5>F<= F>G5>, 
?564M<E =4 <E ?>65DE=>EF<;  
3 6O?>?=OFL G5DF56< F5E=<G5E><E 45F4?5=; 
3 >D>D<?OFL F5E=>?>7<G5E>GN < >>=EFDG>F>DE>GN 4>>G<5=F4F<N 6 
E>>F65FEF6<< E 45=EF6GNM5= =>D<4F<6=>-F5E=<G5E>>= 4>>G<5=F4F<5=. 

 

III. �D<F5D<< >F5=<64=<O D45>F ?>EFG?4NM<E 

 

�EFG?<F5?L=>5 <E?OF4=<5 ?D>E>4<F 6 6<45 F5EF<D>64=<O. $57G?LF4FO 
>F5=<64NFEO ?> 100-54??L=>= L>4?5. 

�464O= 5<?5F E>45D6<F 14 7444=<=. �>?D>EO 45?OFEO ?> >4F57>D<O< 
E?>6=>EF<: 10 6>?D>E>6 >4F57>D<< � (>F5=<64NFEO ?> 5 54??>6 >464O=), 3 

6>?D>E4 >4F57>D<< � (>F5=<64NFEO ?> 10 54??>6 >464O=) < 1 7444G4 >4F57>D<< 
% (D4EG5F=4O 7444G4 3 >F5=<645FEO 6 20 54??>6). %G<<4D=4O >F5=>4 =5 
?D56OL45F 100 54??>6.  

�D>4>?6<F5?L=>EFL 6EFG?<F5?L=>7> <E?OF4=<O 3 60 <<=GF. 
 

IV. �D<<5DO F5EF>6OE 7444=<= 

 

�444=<O >4F57>D<< � 

1. � >4><E 54<=<F4E <7<5D5=<O 7444NFEO D47<5DO =4 G5DF564E? 

1) E<; 
2) <; 
3) <<; 
4) 4<. 
 

2. �D< =4=5E5=<< D47<5D4 D44<GE4 >>DG6=>EF<, >4>>= 7=4> <E?>?L7GNF? 

1) R; 

2) A; 

3) =5F >5>7=4G5=<O; 
4) D. 

 

3. �4ELF45 1:1 O6?O5FEO: 
1) �4ELF45>< G<5=LL5=<O 

2) �4ELF45>< G65?<G5=<O 

3) �4FGD4?L=>= 65?<G<=>= 

4) �4FGD4?L=O< D47<5D><. 
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�444=<O >4F57>D<< � 

1. �D>EFO5 D47D57O, E GG5F>< ?>?>65=<O E5>GM5= ??>E>>EF< >F=>E<F5?L=> 

7>D<7>=F4?L=>= ??>E>>EF< ?D>5>F<=,  ?>4D4745?ONFEO =4: 
1) 65DF<>4?L=O5; 
2) 7>D<7>=F4?L=O5) 
3) =4>?>==O5; 
4) E?>6=O5. 
 

2. %?5F<D<>4F<O > E5>D>G=><G G5DF56G 6O?>?=O5FEO =4 D>D<4F5: 
1) �1; 
2) �2; 
3) �3; 
4) �4. 

�444=<O >4F57>D<< % 

1. �?D545?<FL 65?<G<=G 46G7D4==>7> G7?4, >5D47>64==>7> 
FD5G7>?L=<>4<< ��% < ��D (D<E.1) E?>E>5>< 74<5=O ??>E>>EF5= ?D>5>F<=. 

 
$<E.1. 

 

%>4 D5L5=<O: 

 

�6G7D4==O= G7>? <7<5DO5FEO ?<=5==O< G7?><, 5E?< 57> E?D>5F<D>64FL =4 
??>E>>EFL, ?5D?5=4<>G?OD=GN > D55DG ��. �5>5E>4<<> E45?4FL 465 74<5=O 
??>E>>EF5= ?D>5>F<=. 

 �D< ?5D6>= 74<5=5 ?5D5E>4<< >F E<EF5<O �2/�1 E >ELN %1-2 > E<EF5<5 
�1/�4 E >ELN %1-4. �O55D5< �4 ||��. &>744 >EL %1-4 ||�1�1. 

�4E>4<< =>6O5 ?D>5>F<< F>G5> �4, �4,%4,D4. �?O MF>7> ?D>6545< >F 
?D>5>F<= �1, �1,%1,D1 ?<=<< E6O7< ?5D?5=4<>G?OD=> > >E< %1-4 < >F?>6<< =4 
=<E >F =>6>= >E< %1-4 D4EEF>O=<O, 74<5D5==O5 >F 74<5=O5<>= >E< %1-2 4> 
74<5=O5<OE ?D>5>F<= �2, �2,%2,D2.  

%>54<=O5< E>>F65FEF6GNM<5 ?>EFD>5==O5 ?D>5>F<< F>G5>. �D>5>F<O �4 
�4 5G45F E4D4>F5D<7>64FL 65?<G<=G D55D4 ��.  
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�D< 6F>D>= 74<5=5 ?5D5E>4<< >F E<EF5<O �1/�2 E >ELN %1-4 > E<EF5<5 
�4/�5 E >ELN %4-5. �O5<D45< �5 þ �4 < �5 þ ��; >EL %4-5 5G45F 
?5D?5=4<>G?OD=> > �4�4.  

�4E>4<< =>6O5 ?D>5>F<< F>G5> �5, �5,%5D5. �?O MF>7> ?D>6545< >F 
?D>5>F<= �4,�4,%4,D4 ?D>6545< ?<=<< E6O7< ?5D?5=4<>G?OD=> > %4-5 < 
>F?>6<< =4 =<E >F =>6>= >E< %4.5 D4EEF>O=<O, 74<5D5==O5 >F 74<5=O5<>= >E< 
%1-4 4> 74<5=O5<OE ?D>5>F<= �1,�1,%1,D1. $55D> �� ?D>5F<DG5FEO 6 F>G>G �5 
ú �5.  

%>54<=O5< 55 E D5 < %5, ?>?GG<< 65?<G<=G <E>><>7> 46G7D4==>7> G7?4  

ð %5�5D5=ú. 

 

�D46<?L=O= >F65F: $<E.2. 
 

 
$<E.2. 
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$<E. 3. 
 

 
$<E.4.  

 

V. $5>><5=4G5<4O ?<F5D4FGD4 

 

1. �>?>L><=4, �==4 �675=L56=4. �=65=5D=4O 7D4D<>4. CAD : 'G55=<> < 
?D4>F<>G< �?O %�� / �>?>L><=4 �. �., %5?57=56 �. �. - �>E>64: �744F5?LEF6> 
.D4=F, 2020. - 220. -  

(�D>D5EE<>=4?L=>5 >5D47>64=<5) 

2. '5><4D56, �?L55DF �=4F>?L56<G. �=65=5D=4O 7D4D<>4: 'G55=<> �?O 
%�� / '5><4D56 �. �. - 13-5 <74.; <E?D. < 4>?. - �>E>64: �744F5?LEF6> .D4=F, 
2019. - 389. -  

(�D>D5EE<>=4?L=>5 >5D47>64=<5).  
3. '5><4D56, �?L55DF �=4F>?L56<G. �4G5DF4F5?L=4O 75><5FD<O : 'G55=<> 

�?O %�� / '5><4D56 �. �. - 2-5 <74.; <E?D. < 4>?. - �>E>64: �744F5?LEF6> 
.D4=F, 2019. - 147. -  

(�D>D5EE<>=4?L=>5 >5D47>64=<5) 
4. �65D<=, �.�. �><?LNF5D=4O <=65=5D=4O 7D4D<>4: 'G55=>5 ?>E>5<5 4?O  

EFG45=F>6 GGD5645=<= ED54=57> ?D>D5EE<>=4?L=>7> >5D47>64=<O / �.�. �65D<=. 
- �.:           �& �>445<<O, 2016. - 224 c 

5. �D>4E><= �.�. �=65=5D=4O 7D4D<>4: (�5F4??>>5D45>F>4) 
GG55=<>/�.�. �D>4E><=, -.�. $47G?<=, �.�. %4?4<=>6 3 �., <74. F5=FD 
«�>445<<O», 2013-400 E. 

 6. �=65=5D=4O 7D4D<>4: GG55=<>/�.�. �G?<>>6, �.�. �G7<=, �.�. �5<<=. 
�. 3 $�$'�, 2010 7. 

7. �=65=5D=4O 7D4D<>4: GG. ?>E>5<5 4?O %��/�.�. �5D57<=4 3 �.: �?LD4 
3 �: ��$$� 3 �, 2010 7. 


